RoboMaster

Youth Championship Resource Island O]

User Guide
(EAZEPY:IE
(EJEETEE
I—H— A RA
EX7H0|=

202007

ROBOMAST=R



Contents

Disclaimer

Warning

Introduction

In the Box

Overview

Mounting the Resource Island
Without Power Rune
With Power Rune

Specifications

CHS

B #

RERH

FREATEER

& Ir

WamiE

AR

R
TRESREENXER
FERSREENXER

IS

CHT

B
REENE
ERfERiEEER
iRy
YminE
FEGRE
RIIRE
ERE SR BRI
FERGREEMEER
BEH2H

O o A~ WNMMNDNDDN

_

11
11
11
11
12
13
17
17
19

20
20
20
20
21
22
26
26
28

)

B

REEH

s

sz

R

L
YY—RT45Y EORY 3

T =)= FALEWVGS

NT—=IV—>%FERY 255
g

Sxt

X Abgt

Pzl

A0

THE

He

Resource Island &}
Power Rune M2

Power Rune =&
Argk

29
29
29
29
30

35
35
37

38
38
38
38
39
40
44
44
46



Disclaimer

Thank you for purchasing the ROBOMASTER™ Youth Championship Resource Island 01 (hereinafter
referred to as “Resource Island”). Please read this entire document and all safe and lawful practices DJI™
provided carefully before use. Failure to read and follow instructions and warnings may result in serious injury
to yourself or others, damage to your DJI product, or damage to other objects in the vicinity. By using this
product, you hereby signify that you have read this disclaimer and warning carefully and that you understand
and agree to abide by all terms and conditions of this document and all relevant documents of this product.
You agree to use this product only for purposes that are proper. You agree that you are solely responsible
for your own conduct while using this product, and for any consequences thereof. DJI accepts no liability for
damage, injury or any legal responsibility incurred directly or indirectly from the use of this product.

DJl is a trademark of SZ DJI TECHNOLOGY CO., LTD. (abbreviated as “DJI”) and its affiliated companies.
Names of products, brands, etc., appearing in this document are trademarks or registered trademarks
of their respective owner companies. This product and document are copyrighted by DJI with all rights
reserved. No part of this product or document shall be reproduced in any form without the prior written
consent or authorization of DJI.

This document and all other collateral documents are subject to change at the sole discretion of DJI. For up
to date product information, visit www.robomaster.com and click on the product page for this product.

Warning

1. Mount the Resource Island in the correct manner.

2. Make sure the Resource Island is fixed securely on the ground before use.

3. Avoid leaning or stepping on the Resource Island and damaging its structure.

4. Check regularly for any loosening of or damage to the structure and if found repair or replace the part
immediately.

Introduction

The RoboMaster Youth Championship Resource Island 01 is made of aluminum alloy, and includes projectile
container slots and support structures on its surface. Visual markers are located on the projectile containers,
which can be recognized by the robots. The Resource Island can also be used with a Power Rune, which
opens up a wider range of use scenarios.

In the Box

Central Bottom Part x 1 Side Frame Part x 2 Central Top Part x 1 Cable-Concealing Frame
Bottom Part x 1

N N ™

Cable-Concealing Frame Cable-Concealing Frame Power Rune Fixed Plate Top Support Fixed Part x 4
Side Part x 2 Top Part x 1

“ N




Top Support Part x 4 Side Slot Horizontal Part  Side Slanting Support Side Slot Part x 2

x 2 Part x 2
AN® \ %
Side Arm Part x 2 Screw x 95 Hand Screw x 5 Velcro x 1
L
5 & (7
¢ M3x4.5 M3

Screwdriver x 1 Projectile Container x 12
Overview

IR e R

B
2 —1
|

1. Power Rune Fixed Plate: For mounting the RoboMaster Youth Championship Power Rune 01.

2. Projectile Container: Attached with visual markers, for the recognition of robots through computer




Mounting the Resource Island
1. Fasten the Side Slot Horizontal Parts on both sides of the Central Bottom Part using the M3x4.5 screws.

2. Fasten the Side Frame Parts on both sides of the Central Bottom Part using the M3x4.5 screws.

3. Join the Central Bottom Part and Side Frame Parts with the Side Slanting Support Parts, then fasten
them using the M3x4.5 screws.




ntal Parts with the Side Slot Parts, then fasten them

4. Join the Central Bottom Part and Side Slot Horizo

using the M3x4.5 screws.




5. Assemble the Top Support Fixed Parts and Top Support Parts using the M3x4.5 screws.

6. Fasten the assembled Top Support Parts on the Central Top Part using the M3x4.5 screws. The labels
on the Top Support Parts must face the same direction.

7. Fasten the assembled Central Top Part on the Side Frame Parts using the M3x4.5 screws.
8. Fasten the Cable-Concealing Frame Bottom Part on the Central Top Part using the M3x4.5 screws.

6 © 2020 DJI All Rights Reservec



9. Fasten the Cable-Concealing Frame Side Parts on the Central Top Part using the M3x4.5 screws.

10.Connect the Side Frame Parts and Side Slot Parts using the Side Arm Parts, and fasten them using the
M3x4.5 screws.

If the Resource Island does not need to be used with a Power Rune, see Steps 11-13.

If the Resource Island needs to be used with a Power Rune, see Steps 14-19.

© 2020 DJI All Rights Reserved 7



Without Power Rune

11. Insert the Power Rune Fixed Plates into the slots of the Cable-Concealing Frame Side Parts, then fasten
the Power Rune Fixed Plates on the Cable-Concealing Frame Bottom Part using the M3x4.5 screws.

12. Fasten the Cable-Concealing Frame Top Part on the Cable-Concealing Frame Side Parts using the M3
hand screws.

13. Place the projectile containers in the projectile container slots or on the support structures on the
Resource Island. For more information, refer to the RoboMaster Youth Championship Rules Manual.
Users may access the document on the RoboMaster official website:
https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

With Power Rune

14. Fasten the Electronic Visual Markers on the Power Rune Fixed Plates using the M3x4.5 screws. Each
team’s Power Rune consists of 5 Electronic Visual Markers forming one unit. The Power Runes of both
teams must each be mounted on both sides of the Power Rune Fixed Plates. Note: the Electronic
Visual Markers must be purchased separately.




15. Connect the Electronic Visual Markers. For more information, refer to the RoboMaster Youth
Championship Power Rune 01 User Guide.

16. Insert the assembled Power Rune Fixed Plates into the slots of the Cable-Concealing Frame Side
Parts, then fasten the Power Rune Fixed Plates on the Cable-Concealing Frame Bottom Part using the
M3x4.5 screws.

17. Fasten the mobile power supply on the Cable-Concealing Frame using the velcro, then connect it to
any of the Power Rune’s USB ports using the USB cable. Users must provide their own mobile power
supply.

O USB cable O

O Mobile power supply O

18. After confirming the Power Rune is properly connected to the power supply and its mode setting
is correct, fasten the Cable-Concealing Frame Top Part on the Cable-Concealing Frame Side Parts
using the M3 hand screws. For more information on setting the mode of a Power Rune, refer to the
RoboMaster Youth Championship Power Rune 01 User Guide.

19. Place the projectile containers in the projectile container slots or on the support structures on the
Resource Island. For more information, refer to the RoboMaster Youth Championship Rules Manual.
Users may access the document on the RoboMaster official website:
https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

(o] _‘"'

)

T
|




Specifications

Weight (including projectile containers) 5.4 kg
Dimensions (Length x Width x Height) 1048 x 450 x 635 mm

10 © 2020 DJI All Rights Rese



==
=R

RBHEIISE RoboMaster™ B/ EREARS 01 (LITFEI " ZES ") « EAATSZH, &
(PR E AR ™ BUSF (DU™ ) BT RAIRE ], ENRTAEA L TR
HRGE, PR AR T ARG, — BERATR, BN DA FREEAT, .
AT A SRR A P T R TR S SRR A1 . (RS AP R R AT A
REEEMSMEE, ATEOIH (D)) W E A SR A STaRERR. FELURE
(EEE AT .

DU R AR TR IR A SR AT, A LIRS, S8, 5%
R AT . AR RSB OSTRINES . AR, TR
AR AT BB R R R AR SBOSR (DJI) B . IS, SRS TEs.
79578 www robomaster com 5 Ri LIS EET IS

hNe ol — )
FalEREERIN
1. BRI AR
2. R AR SR EE T E.
3. WO, BRRERS, BT,
4. EEBICE TN, R, MUK, WRAAP IR,

"

RoboMaster S/VFHRERRS 01 BIESTHIRN, FERBPAMMIESRITED, BAMRL
WBEMREIRE, TNATIRANRNR . BRSEAEGEEYXER, RREFEN
NFmE=.

s

AR

chsRIEEE x1 MAELF x2 eh 4 x1 RUEAE T x1
<§§§§>

RLEAR x2 TR E 1 1 HRNEERIR <2 HIEEE x4

TN

11



EE x4 BB x2 SIS x2 e x2

S Y

S x2 1842 x95 FITI8%2 x5 ARG x1
&
¢ M3x4.5 M3
122277 x1 SEZGHR x12

§

AR B TR

R .

=

1. BEEVIXEENR: AT %% RoboMaster B/ DFZEEFEENLX 01,
2. 38Z5R: MBMERE, JNAFINRANTIREIHS.

12 © 2020 DJI All Rights Reserve



LR

1. R M3x4.5 12228 st 72 B BlE TP RIEAHIZ AR o

2. {58 M3x4.5 BELISMIEM S BB EE T REHRIEARM L.

3. BEMRSHEMD RIERTREGSMEYS, FER M3x4.5 BLEE,

© 2020 DJI All Rights Reserved. 13



4. EIMERAD BUIEED R SMEEEM, FHER M3x4.5 BLEE,

14 © 2020 DJI All Rights Reservec



5. {5/ M3x4.5 1222485 FIEEIEMS LT

7. {8 M3x4.5 12225 4R%EA9h R E 4o BIEIE = IEH .
8. {F M3x4.5 124G IR MEBEEEHR L4,

© 2020 DJI All Rights Reserved 15



9. {3 M3x4.5 BRL2EHEEN D IBEE TR LM

ARBUTRRALENCER, HSELE 1113,
ARBURRABNLER, BEESR 14-19.

16 © 2020 DJI All Rights Reserve



ZHRE ARSI XEH
1. SEENXERRIBNEMLAEMERIE, FEER M3x4.5 RSA R X E R RE R =L
ETH-

12. {58 M3 FHFIRLLGTILAE LB E AR
13. BHESTRM B AR IR SARHRESRIEEE L, #1552 % (RoboMaster HLERXITE
DEPRERZRLLFEMUF ) .

wERGEENXER
14. {73 M3x4 5 1RLLIGF T ASITE S BIEIEEALRY X EFIR. 5 MBTFMIBIFER— 1N
i, 1ER—TSMOBERYLE. TUSRERI AT BILEERRYLXE RN T8, BTN

RS 2.

© 2020 DJI All Rights Reserve 17



15, EEREFINRS, BALEIESE (ROBOMASTER B VFREREENX 01 FRAIRA) .
16. BAEEATBEEBV R BERIBAZREAEWA-TE, FER M3x4.5 BRLOGRE8 Y X BEIERE
EERLAE M.

ISNRRTS
3t

17. (FRBAWSEBREEEMEIE, HEHB USBIEEE D BiEZEEENXNEE—
USB &M, /T8, BllRREEE.

O USB &tk O

O EZml=Eh O

18. FAREEYIRIERHEBENREIFAE, £ M3 FrIRLISHEIE LU EEEREIEN
. e XAERE, BFLRIESE (ROBOMASTER BFRFREENX 01
=AY .

19. FHRESTRM B AR IR SARESHRESRIEEE L, #1552 % (RoboMaster HLERXIHE
DEPRERZRLLERMUFA ) .

18 © 2020 DJI All Rights Reserve



IS

52 (235 )
RI (Ex®Emx5)

5.4 kg
1048 x 450 x 635 mm

© 2020 DJI All Rights Reserve

19



E*
BaEEH
RESIEHE ROBOMASTER™ S EEHEES 01 (LUFHE | &S | ) . BRFES
8, BRERELEEARAE R (DI™) RN ERAlEE, BT SR
BIARFEE, BEAERSECEENG. —DERAER, DRAEESFRNEAY
R, RUTES AR ARSI AN S BERTING . CREH EAAER
LR ST R R A S AP (T, ATERAI (DJI) SR BRI A S TS IR
BEL R T.
DJI R ASBRIF R EIRA SR S ADNEE, AXERNEREE. B9%, 1
BEFEATNGE. AERREMIEAABANAE. FEHT, REUETLER
FWED
AR A BB S AN B RER A ASEAIF (D)) Fia. MESH, ORSTE

. & www.robomaster.com B4 #EukLUER &I ERE .

= ==
EmERESsRIE
1. BERAEENARAZELS RS,
2. (FFRIBERE REEBEEENRIEE.
3. mAfEE. RRERS, BHeBRdE.,
4. EHESEEEERE. 182, EEULRS, BNSEESBIREG,

i 9

RoboMaster EVFHEELIRES 01 HIRASHMN, REREBEMMIIESRITHEE, BERLE
ERSIEER, YEARKBEARSHNER. EREEYRGHEWEER, RERELEN
fERE=.

:Eﬂﬂ

mlﬁlﬁﬂ

ARG x1 fRIFEG x2 o A x1 TGAE T x1

N
SN
\ \\\\\
N

TAGAERIE x2 TEASAE L4 x1 BEEMERIEEIR 2 LREEEH x4

©

20 © 2020 DJI All Rights Reserve



E5EH x4 fRUSER A <2 AR x2 REEH x2
S
BIEH x2 124 x95 FEIRMG x5 EE5REE x1

8 w

M3x4.5 M3

124%T] x1

SR

AN <12

§

B 1
' 2

1. FEEHRIEIEIR . FBIRZEE RoboMaster S/ EBEFREEHEET 01,
2. SR, ANEIREEE, YERARESAREHIISES.

-

© 2020 DJI All Rights Reserve 21



LELRAA

1. 563 M3x4.5 RS BB IE (4 B Bl E A PRI ARV A RIAl .

3. BIRRIFSTF A BB R IR ERANES, WER M3x4.5 1244EIE.




RIERE(E, T0fER M3x4.5 BAAEE.

4. EB AR BlE R R

IRights Reserved. 28



5. {5 M3x4.5 $2454E 55 FIEEE M EITH

7. {EF M3x4.5 124505 4AEEAY P o H 4 BIEEEANEX .
8. 58 M3x4.5 IS IRIARME MEBRIEE PR E1F,

24 © 2020 DJI All Rights Reservec



9. fEF3 M3x4.5 BEISTRARE RIS BIRIEE R L

ARBUMBRSLEMIIER, ATELH 1113,
GRBUBRAEEMAER, BEESE 1419,

© 2020 DJI All Rights Reserved 25



BROSRENEER
1. AR BEEARIE N SRUSIERAIS £1E, 6B M3x4 5 BAEH RN EEIRE TSRS
ETH.

12. £/ M3 FEIZHISRGIE LA EESRARERI .
13. BRI E & IR BRHEER MBS AT L, #1552 % (RoboMaster 2020 #H
REDS D EREBLCEIRAFM) .

mERGREMEER
14. {5/ M3x4.5 BT RBERS EEEAEHHETER. 5 BETRESRs—EE
i, FA—FMALEHKE. SHREREEIIRETMEMBETRMEA. %, BTH

BERTERB.

26 © 2020 DJI All Rights Reserve



15, EREFREIEE, AiRSRESE (ROBOMASTER S/ FHEEREMES 01 EAMMB) .

16. A AESRAIBE BRI B EIRIB A ZRAERI-T1E, WA M3x4.5 1Bt B4R EIERE
TEETARE 4.

_@lﬂlﬂﬂﬂ‘"l

OO0

EEE Y=

17. ERERESTEEREEERME, WER USB ERGD IERESHENTEE—E
USB BRI, T2, 1TEERFEH.

@) USB &z O

O TEEE O

18. FERRE MBI I ERRRBEERE, A M3 FEIZSISEISIE HFEIR ZRSIER
4, BEEMRBANRIRE, BEELEES% (ROBOMASTER B/ EEFALEMET 01 £
SREA) o

19. B ENEE SR SABEGRMES AT EE L, $15:52% (RoboMaster 2020 4
AEDS D EPEBLLFRAUFM) .

© 2020 DJI All Rights Reserve 27



5.4 kg
1048 x 450 x 635 mm

28

DJI All Rights Reserve



REHEHE

ROBOMASTER™ A—XF ¥ v EF Vv TUYV—RT7ASV R0 Mg TUY—AT745 > K] £KD)
ETEAVCREEGYANESTEVET, SHEAIC. COXELAKICEEREL. DI™ N RET %8
TEEMEFITOVWTOFRBEEEIEZE BHt < LTV, BREELIEDED >HHE. TEE PO
NEEEREDLERY ., $RIEHERD DI ERB LUBIOMOYERIB LIz 5/ NHAH Y £T,
FEUFEFERATEHEICEY . FEDREFEL LUEEL L (Fid AXESIUFHKDOITTD
BENEIGGEHIN TOSHERNZER L, IBF IS LICRELREFEEINE T, AEREBEYE
BADDICDIMERT BT EICERT 2EHDE LET, AEROERPOTEE THUTHESIERITIE.
A—H—HLENEETEES LICEETEHEDE LEY, AMUROMFRICE Y EEEISREBMNICHE
HI2IEE BE BRUZTOMENSEICH LT DIIE—IEFZEVEEA,

DJI 1% SZ DJI TECHNOLOGY CO., LTD. (IUF DJl) £E8) HLUZDEESHOBEBIETY, KEIC
RHINTVRHRR, 752 FMaEDOAME. ZOFMEE THHESHOBIEL CIEEREIZ T, AR
P ROAREIG, FEHEN SZEMEEHZREE T2 DI OEEMD =&, DI HSEMEICK BEFIA
FldHFEER DT LA AERFRIXEOVHEZHDE. WHEDIHECI > TEERTET
SIFEKEZELSNTVETD,

AEBLUZOMINTDONFEEZIE. DIRBDHETEREINDTENDH Y FT, REDERERICD
W&, www.robomaster.com (777 2R LT RELRITRISET B2HER—I% 7 1w o LTTEL T,

a4
=0

1 ELWHETY Y =745 FERIMIFTIIREL,

2. BARNCUY —RT7AZY RHOMEIC LoD EEEENTWAST LRI L TS EEL,

3. WY —=ATAZ Y RICHFVED o YBEARY LTUBEITBEE S A TN TLIREL,

4. 72%57@_5@%%%?ﬁ%b‘ﬁbb%?ﬁﬁﬁﬂ’\]t:ﬁﬁ@ L. BRENST CIcT DEmZEEE 233 LT
TELY,

X Co&lc

RoboMaster 1—AF ¥ EF Vv UV—IXT7AZ > R 01 X7V EE£RT. TOXREITHKSHEK
AVFFROY M ZOZFBENEHFAENTVEY, KDV T EOEI 1 7)Ib<—H—IC
Ko T, BRY b SDBRINFIEEICEVET, UV —AT A7 Rg/N\T—)b—2 EfHEahETE
BAI2CEETERBDT, FRYFTUFOERHARELAYET,

ik

FRIRTRER/ S—Y x 1 flEm~ L—L R FER/S—Y x 1 ERfRREmR 7 L — A

JN—Y x 2 TER/N—Y x 1
ERRREmk 7 L— LAIER  BRARRER@R 7 L — L EE NT—)L—VEE FEBEES /N x 4
JN—Y x 2 JN—Y x 1 TL—hkx2

SN

©

© 2020 DJI All Rights Reserved. 29



FERX N x 4 BlmAOy ~Esd AIEERSE/—Y x2 @EAOv k
JN—Y x 2 JN—Y x 2
pNY \ %

RIm7—LA fal x95 FEHA L x5 N0 x1
JN—Y x 2

A

\ 5 @ ;@

¢ M3x4.5 M3

fRLCEL x 1 HEMAD VT x 12

1. JNT—)L—VEETL— b : RoboMaster 1—RF v > EF >y 7 N7 —)Lb—> 01 DELW TS

VTR,

2. BHEIVT S EVATLR—A—HDONTVBTET, AVE1—4—EEALTRRALE
BEAEORY OB TES,



VY =745 FOY {34

1. M3x4.5 o CCHRTE/NN—YOmAIcAmADy MER/N—YEBEELE T,

2. M3x4.5 R U CTHRTEH/N—YOmAIcfE 7 L—L/N\—VERBRELE T,

3. RIEMERSEH/ A A—YAEFRLT. FRTE/S—VEAIET L —L/A—YEEF L. M3x4.5 2 CTE
ELET,

© 2020 DJI All Rights Reserved. 34



4. AEAOY b=V ERSALT, PRTEH/NN—VEAEAO Y MER/NN—YEER L. M3x45 L
TEELEY,




5. M3x4.5 o CCEBEESZ#/\—Y & LR/ -V aER L Ed,

6. $BHICfe EEEE R/ \— Y ZHRR EE/\— VT, M3x45 RUTEELEY, LEXF/\—YD
INIVERILABZRAVTWAHRELH ) T,

7. $IHII TR EZNN—VERE T L—L/A—VI, M3x4.5 R CTEELE T,
8. HRZR IR/ N— Y ICERREHE 7 L — LA TFER/N—Y & M3x4.5  CCRELE Y,

© 2020 DJI All Rights Reserved 33



9. FRREF/—VITEREMR T L — LAIER/ S—Y % M3x4.5 A CCEELE Y,

10 AE 7 —L/N\—YAEFEBLT. AE7L—L/\—YEAEAQY MA—YEEFL, M3x450LCT
BELEd,

UY—=RT7 A5 REINT—)b—> LBEDETERT ZBENGEWNBAICIE. ATy 11 ~13%
SRLTIEEN,
UV —=RT7A S FEINT—)b—> EBEDE TERAT R ENGZHAIIE. ATy T14~19%
ZRLTEEY,

84 © 2020 DJI All Rights Reservec



NT— b= FERALEWVSE

1. NT—=)b=VEET L — FEEHRRER T L — LB/ S—Y D A0y MMIFEA L. M3x4.5 THHRE
W7 L—LTFE/NN—=VINT—)b—VEE L — rEEELE T,

12. M3 DFsdta U CEARRER 7 L — LAER/ N — VI, BoigBEm 7 L— LB/ \— VY ZEELE T,

13, BEHAD Y T HERFEI VT FRAOY bEFUY—X 7452 FOZIHEEICEBLE T,
FHRIBERIC DOV T IE RoboMaster 1—RF v Y EF >y FRER Z a7 ILABBLTIIEEL,
RoboMaster R, Web 4 b ECRF 2 AV N EBRI BT ELETEFRT:
https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

NT— V=% FERT 355

14. M3x4.5 RCTNT—)V—VEESL— MIBFEY 27 IVR—H—ZEELE T, &F—LD/N
T—=)b=F1 1=y b EERT S 5BDBFEY 17 IV —A—THEBETNTVET, mF—L
DINT—=)b—=NZNT—=)b—VEET L — FOWEAICZENZNER ST SN TV BREL G ET,
A BFCEYATIVR—H—IFRERTEAT ZHELH ) T,

© 2020 DJI All Rights Reservec 35



15. BFEY 17V —H— DR, 5HAEIBERICDOULTIE RoboMaster 1—XF v > EH 3w 7 N
T—Ib—=> 01 A—H—HA1 FEBBLTIZEL,

16. MIIITI/NT—)b—VERE S L — M HEHRRER 7 L — LMEER/ N —Y D X0y MTEA L. M3x4.5
CEHFRER T L — LT/ S— VT —)b—VEE L — b EEFELE T,

_@lﬂlﬂﬂﬂ"‘l

DG s

T

17. NV O CEAERM 7 L— L EDENAIVEREEE L. USB 7 — I aERLT/NT—)L—2D
FEBEDUSBR—MEHRLET, I——IdTESTENASIIBRERET 2REBLIDYET,

O UsB o7 —71L O

O ENAVER O

18. NT—)b—UHABRICETICESF SN, T— FREHNELWVWT EHHERINZS. M3 DFHEHR
U CEHSBEM 7 L — LIS/ A— Y ICERRIERR 7 L — L BN =V EBEELE T, /NT—IL—DE
— RBREICDOVTDFAAIERIC DL TIE RoboMaster 1— X F v Y EA >y F N7 —)b—>
01 A—H—HA FEBRBLTIEEL,

19, FEMEAO VT HERMEI VT HAOY bEEU YV —RT7 A4S ROZEFEEICEREBLET,

FHAEIBERIC DOV T IERoboMaster 1— R F v Y EF >V w FARER Z a7 ILABBLTIIEEL,
RoboMaster R Web b ECRF 2 XAV b EBBITAHIEETELT:

https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

.\ 2 e s
Sooo. .
"l‘@iﬂl& 1

-
L LT

Cd o

36 © 2020 DJI All Rights Reserve



T

g2 RV 7TTE220) 5.4 kg
JE (RExExEE) 1048 x 450 x 635 mm

© 2020 DJI All Rights Reserved 37



AX| Abet

source Island’ﬂf TOHSHEM A ZEAL

ROBOMASTER™ Youth Championship Resource Island 01(0l5} ‘Re nshg
BHLICE DU™MOIM RSSHER|E 2 24 2t J’FJOH‘_ Hesh Atg Hit 2HE DE LIES AL Tol| =29 2 ¢
of FHAQ, & 2 40 Atetg eln EEFEXI OfS A AL} = CH2 AZo] MztstA| Efi|71Lf DJI HIE = &
ol U= T2 X7 &4E 2 USLICH HI“O AM8she A2 2 IX| At Y Z0E Fo| 2| 2 o] M9
DE o YU ME #H ZE EME Olsistn F4517|2 S2|5ks W22 ZIFFLICH Fshs Fst ZH g IsiAgt
2 HES MEOL_ Zof| Solgih] f HE fﬂ Al AHEXte] #let Tof| 2 Zntof Cist M2 ME o= =Zolo
Al AUCHs Zofl SAFLICE DIIE 2 HMEQ AFBOE QI8 2 £ Ao WSt mjs, 24 = RE WY A
Qlofl chah ofist &l e X|X| E’s’ﬁ'-l'if.
DJI= SZ DJI TECHNOLOGY CO., LTD.(Z0Z ‘DJI’) & s Xts|Ate] AZQILICH 2 EMol| EAE HMEY,
BlEY S2 oy AR SAMe HE E SE 4uYULICH DJI= 2 HME L EM2 ME e 2E HRIE R
RELICH 2 HE £= BM9 oist 2RE DJI9| AFH MHE &7t = 52| 910/ oMt HACZE Ty ite
2 glaLot,
o 2M & 7|t BE EXQ 2ME DJI9 s ol mat HAE -~ ASLCH 24 ®ME 2 http:/
www.robomaster.com& %’Efﬁf 01 2 X|Z0ll chst X Z mo|X|E S2lotH &olstal o~ JUSLICH
4dn
1. Resource IslandE SHIE WA R FAGIHYAIL,
2. AH8st7| Mol Resource Island?t X|HO|| BHEES| D™ E[=X] EQlsHIA|IL,
3. Resource IslandOll 7|CH7LE BI0IM LRSS &4 AIF|X| OHYAIR,
4, ARIL =oAL 2HEIUEX| F7IH o= Sf0lstn Urist AR ZA| EES 2[ot7{LE WHISHIAIRL,
20
RoboMaster Youth Championship Resource Island 012 2&0|E EZ2E HEE A0, THO| LA Z1H|
ol &2 X|X| =22 Z&stn ASLICH HIFY O 2R0| QMG = Q= WAL ZE|o|Lof &LICH
Resource IslandE= S5 Power Runet &7 AF2SH0 OS2 Helo| ALR AlLIZ| 0] 288 4= /UELICH
M=

THE
BYHIE EE « 1 EH DY BEE « 2 Y MEHEE « 1 7lolg 2o =Y Hich £

2 x1

\\

7lolg 2 =Y 5H 2 0| 25 =2 MTttE  Power Rune 1% Z20|E ATt X|X| 1Y £& x 4
Zx2 =x1 x 2




M XX BEE x4 EHERPEEE 2 EHZA XX BE x 2 EHEREE X2
> \ \ %
EHAEE 2 LEAF % 95 E LIAF x 5 HIZ x
M3

M3x4.5

N
&

LA ZEO|H x 12

AS2CEL0|H « 1

27
=
57| 2lall HIFH 07} BAfE|of ST
ed. 39

HO o|Al

Power Rune 1 Z2|0|E: RoboMaster Youth Championship Power Rune 01 &8,
22 24
© 2020 DJI All Rights Re

1.
2. A ZiE|O|H: HARE H|ITE S8l =



Resource Island &%}

At&st0d

M3x4.5 LIAS

1.

AHES10

=
=

2. M3x4.5 LtAb

AHESI0 ZYLICY,

=
=

M3x4.5 LIAH

DJI Al Rights Reservec

40



=

4

LIAFE AMBSI0] =¢

M3x4.5

=1
=

2 2yt ot

2 d
=

41



E A8

5. M3x4.5 LIAb

o o S
He 22 Wk

t

HZo|a

£ A8
Bl=a

I

3fiof 2

3

=1
=

6. M3x4.5 LA

Agstol S
At

=2
=

7. M3x4.5 LA
8. M3x4.5 LIAb

2
S

=
=

rvec

s Rese

© 2020 DJI All Righ

42



T2 £8 2E

£ 24

5101 B YT 230l 7(0]

E A8

9. M3x4.5 LIA

to] =Lt

£ 0|83

FAF

Tl
K

PH| At

£ Power Runext &

Resource Island

I A

£ Power Runext &

Resource Island

43

hts Reserved

© 2020 DJI All



Power Rune A<l

11. #0lg 20 =g} ZH 2F0| SR0l| Power Rune 18 Z2|0|EE &St LS M3x4.5 LIALE AL&3101 7|
f

o
o ol
0l 20| =3 5ttt 220 Power Rune 17 E2|0|EE ZILICH

12. M3 #ME LIS AMBS1o] 70|12 20| Z2i|g) 4T BE2 7012 20 =2 FH 250 =YLt

0
13. ALK ZHO|HE A ZiE|0[] £RO0IL} Resource Island®l XIX| FZE20| 52 YAL. XtNE LIS
RoboMaster Youth Championship & IHFYS &ZASHMR. AF8XH= RoboMaster 34! BAIO|EO|AM 2M
Off HMIASE 2= QELITH

https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

Power Rune Z&f

14. M3x4.5 LIAFE AH2510 Power Rune 1 E2{|0|E0f| XX} H|FY 0FHE DF™RLICE 2 §l9] Power Rune2
4

StLtol £t9lE Fdste 5712 At H|F 0pHE I E UL = Bl Power Rune2 Power Rune 18 £2{0]
EO| AZR0]| 2{Z} FEf=|0ofof Gt F: M HIFY 0= B2 FolsHOF LICt




15. TXHH|FY O
0|EE &=3IML,

16.

17. #AZE AH8s10] 7012 20 T2 o 2HtY T S5 YXIE DS O, USB #AH0I=2 ALE310] Power
Rune®| USB ZEOI| AZLICt AEXtAHLO| RHtY HY S5 RIS HJsHof gfLCt.

18. Power Rune0| T® S5 FX(0f| Aoz AZ=(0f Q1 ZE HFO0| SHIEX| &felet =, M3 HE LIME A
0 7lol2 20 =2 F BE0l| A0lE 2H Z|Y YT FES ZYLICH Power Rune®l 2= Yo of
&

TE= u
XtMIsH LIB2 RoboMaster Youth Championship Power Rune 01 AHEXt 710|EE E 5N 2.
AHH| Z4E|0|L] £20|Lt Resource Island®l X|[X| 2ZE0| 52 HAIL. XIMEt LHES

9o

19. A ZH|0|HE &

RoboMaster Youth Championship & IHFYS &AM, AFEXH= RoboMaster 34! HAIO|EO|A 24
off HMAEE 4= QuBLC

https://www.robomaster.com/zh-CN/resource/pages/announcement/1394

SENE T

T
|

© 2020 DJI All Rights Reserve 45



A

S| (A ZiEfjo|A =gl 5.4kg
37| (Z0] x HH| x =0]) 1048 x 450 x 635mm

46 © 2020 DJI All Rights Reservec



A DEPOSER A DEPOSER
Cet appareil at \QMMAASAIA L

sa accessoires

se recyclent

Points de collecte sur www.quefairedemesdechets.fr C E C n

WWW.ROBOMASTER.COM

Rand ROBOMA ST=R are the trademarks of DJI.
Copyright © 2020 DJI All Rights Reserved.



	Disclaimer
	Warning
	Introduction
	In the Box
	Overview
	Mounting the Resource Island
	 Without Power Rune
	 With Power Rune

	Specifications
	免责声明
	产品使用注意事项
	简 介
	物品清单
	部件名称
	安装说明
	无需配合能量机关使用
	需要配合能量机关使用

	特征参数
	免責聲明
	產品使用注意事項
	簡 介
	物品清單
	零組件名稱
	安裝說明
	無需配合能量機關使用
	需要配合能量機關使用

	特徵參數


	免責事項
	警告
	はじめに
	同梱物
	概要
	リソースアイランドの取り付け
	 パワールーンを使用しない場合
	 パワールーンを使用する場合

	仕様
	고지 사항
	경고
	소개
	구성품
	개요
	Resource Island 장착
	 Power Rune 제외
	 Power Rune 포함

	사양

